
LOSA6020	 HD 30° Plastic Rod Ends (12)..................................................5.99
LOSA6044	 HD Captured Rod Ends & Balls..............................................6.99
LOSA6074	 Adjustable L/R Turnbuckle Set (6) (ST, SNT).................. 11.99
LOSA6100	 1/8” C-Clips...................................................................................1.99
LOSA6102	 3/16” C-Clips (12)........................................................................1.99
LOSA6204	 4-40 x 1/2” Cap Head Screws (10).........................................1.99
LOSA6205	 4-40 x 3/4” Cap Head Screws (10).........................................1.99
LOSA6206	 4-40 x 3/8” Cap Head Screws (10).........................................1.99
LOSA6210	 4-40 x 3/8” Flat Head Screws (10).........................................1.99
LOSA6215	 Narrow #4 Washers (10)...........................................................1.99
LOSA6216	 4-40 x 7/8” Cap Head Screws (10).........................................1.99
LOSA6227	 4-40 x 1/8” Hardened Setscrews...........................................2.49
LOSA6229	 4-40 x 3/8” Button-Head Screws (10)...................................2.49
LOSA6230	 Shim Assortment – 3/16”, 1/4”, 1/2”(20).............................2.99
LOSA6233	 4-40 x 5/8” Flat Head Screws (10).........................................2.99
LOSA6237	 8-32 Hardened Setscrews.......................................................2.99

LOSA6300	 4-40 Hex Nuts (10).....................................................................1.49
LOSA6303	 8-32 Lock Nuts (8)......................................................................1.99
LOSA6305	 4-40 Aluminum Lock Nuts (10)..............................................4.49
LOSA6306	 4-40 Aluminum Mini Nuts (10)..............................................4.99
LOSA6350	 #4 & 1/8” Hardened Washers..................................................2.99
LOSA6401	 1/16” Pins for Wheels.................................................................1.99
LOSA6903	 3/16” x 3/8” Sealed Ball Bearings (2)....................................6.99
LOSA6908	 1/2 x 3/4” Sealed Ball Bearings (2) .................................... 16.99
LOSA6943	 10x15mm Sealed Ball Bearings (2).......................................6.99
LOSA6954	 5x10mm HD Clutch Bearings (2) .........................................6.99
LOSA7059	 320 Series Front Chrome Dish Wheels (2)...................... 10.99
LOSA7159	 320 Series Rear Chrome Dish Wheels (2)........................ 10.99
LOSA8200	 Body Clips (12).............................................................................1.49
LOSA9305 	 Air Filter Set (SNT)......................................................................7.99
LOSA9306	 Air Filter Foam Elements (2 pair)...........................................7.99
LOSA9310 	 Fuel Tank (XXX-NT, SNT)........................................................ 14.99

Optional Parts
LOSA4135	 Ball Bearing Wheelie Bar Wheels (ST, SNT).................. TBA
LOSA4144	 Rear Sway Bar Set (SNT)...........................................................8.99
LOSA5064	 1.0” Titanium Nitride Shock Shaft.........................................8.99
LOSA5223	 Certified Shock Fluid 25 wt.....................................................3.99
LOSA5224	 Certified Shock Fluid 30 wt.....................................................3.99
LOSA5225	 Certified Shock Fluid 35 wt.....................................................3.99
LOSA5226	 Certified Shock Fluid 40 wt.....................................................3.99
LOSA5150	 2.5” Springs 2.3 Rate – Pink (2)...............................................3.99
LOSA5152	 2.5” Springs 2.6 Rate – Red (2)...............................................3.99
LOSA5154	 2.5” Springs 2.9 Rate – Orange (2)........................................3.99
LOSA5156	 2.5” Springs 3.4 Rate – Silver (2)............................................3.99
LOSA5158	 2.5” Springs 3.7 Rate – Green (2)...........................................3.99
LOSA5160	 2.5” Springs 4.0 Rate – Blue (2)..............................................3.99
LOSA6912	 3/32x 3/16” Ball Bearing for Steering (4) ........................ 23.99
LOSA7688R	 320 Series “Eclipse” Off-Road Tires - Red ........................ 18.99

LOSA7689R	 320 Series “King-Pin” Off-Road Tires - Red...................... 18.99
LOSA9710	 Graphite Front Suspension Arms...................................... 13.99
LOSA9714	 Graphite Kickplate, Bulkhead & Steering Brace........... 17.99
LOSA9811	 Graphite Rear Suspension Arms........................................ 15.99
LOSA9832	 Graphite Rear Pivot Block........................................................6.99
LOSA9962	 Graphite Center Brace/Tank Mount (XXX-NT, SNT)..... 19.99
LOSA9391	 23-Tooth Clutch Bell (SNT)................................................... 14.99
LOSA9392	 24-Tooth Clutch Bell (SNT)................................................... 14.99
LOSA99004	 Losi Cargo Bag.......................................................................... 69.99
LOSA99006	 Losi Pit Roller Carrier/Pit Boxes........................................149.99
LOSA99007 	 Losi 1/10 Tuck Diaper/Car Carrier...................................... 24.99
LOSA99013	 Losi Large Pit Mat.................................................................... 21.99
LOSA99015	 Losi Pit Apron............................................................................ 19.99
LOSA99072	 Deluxe Nitro Starter Kit ........................................................ 54.99
LOSA99104 	 Losi Wrench Set US 4pc......................................................... 52.99
LOSA99165	 Aluminum Turnbuckle Wrench.............................................6.99
LOSA99167	 Losi Tuning Screwdriver........................................................ 17.99

LOSA9313	 Fuel Tank Mounting Set (XXX-NT, SNT)..............................3.99
LOSA9315 	 Fuel Tubing (24”).........................................................................5.99
LOSA9325	 Silicone Exhaust Coupler Tubing..........................................2.99 
LOSA9330	 Pipe Mount Set with Hardware.............................................3.99
LOSA9336	 Motor Mount Set (XXX-NT, SNT)........................................ 13.99
LOSA9361	 Clutch Shoes & Spring (SNT)..................................................9.99
LOSA9368	 Clutch Nut & Hardware (SNT)................................................4.99
LOSA9371	 Flywheel & Collet (SNT)............................................................9.99
LOSA9376	 Collet & Spacers (All Losi Nitro).............................................3.99
LOSA9390	 22-Tooth Clutch Bell (SNT)................................................... 14.99
LOSA9413	 Disc Brake Rotor (XXX-NT, SNT).............................................4.99
LOSA9415	 Servo Mounts, Arms & Switch Mount Set..........................5.99
LOSA9416	 Brake Cam, Piston & Pin (SNT)...............................................3.99
LOSA9417	 Brake Hub, Pads, & Hardware (SNT).....................................8.99
LOSA9419	 Speed-NT Throttle & Brake Linkage Set (SNT).................8.99
LOSA9941	 Bearing Spacer & Wheel Washer Set................................ 11.99
LOSA17685B	 Road Weapon Tires with Chrome Dish Front Wheels.27.99

LOSA27685B	 Road Weapon Tires with Chrome Dish Rear Wheels... 27.99
LOSB0806 	 MRX 3000 DSM Receiver.....................................................109.99
LOSB0807	 MTX Pro 3010 DSM Transmitter......................................... 69.99
LOSB0818 	 MS101 Digital Servo............................................................... 16.99
LOSB0819 	 MS303 Digital Hi-Torque Servo.......................................... 26.99
LOSB0899	 On/Off Switch with BEC Plug.................................................4.99 
LOSB5067	 Exhaust Header 3.4 Engine (SNT)...................................... 14.99
LOSB5068	 Tuned Pipe 3.4 Engine (SNT)............................................... 39.99
LOSB5069	 Exhaust Coupler & Header Spring 3.4 Engine..................3.99
LOSB5100	 Spin-Start Handheld Starter ............................................... 49.99
LOSB5104	 Spin-Start Starter Shaft............................................................5.99
LOSB5108	 Spin-Start Drive Gear – Metal................................................3.99
LOSB8076	 Speed-NT Painted Body – Red with Stickers................. 49.99
LOSB8077	 Speed-NT Painted Body – Blue with Stickers................ 49.99
LOSB8078	 Speed-NT Clear Body with Stickers.................................. 29.99
LOSR2135	 3.4 Spin-Start Backplate Assembly................................... 15.99
LOSR2136	 3.4 Spin-Start One-Way Bearing........................................ 11.99

A6908 A2934
A2951

A2950

A2949

A2934

A6903A2928
A2947

A2948

A2928

A2949
A6903

A2929

A2918

A6903

A2946

A2946

A6943

A2952
A2948

A6903

A6908

A9417

A6102
A9413

A9416

A9419

A9416

A2918

A3135

A3132

A3129

A3132
A2929

A3129

A3913

A9305

A9368 A6954

A9368 A9361

A9371

R2135     * Spin-Start Backplate for 3.4 Engine
A9336

A9336

R2136

A9325

B5069   
B5068

B5067A9376

A9306

B5069

A9391

A6206

A4064
A5155

A5013

A5073

A5074

A5017

A5015

A5079

A6204

A6303 A7159 A27685

A6903

A9941

A0000
A6903

A2164

A6044

A6204
A2960

A6074

A2960A2960
A6100

B0899

A6350

A6206

A9415

A9415

A9419

A6220

A6210

A2166 A6237

A2918

A4064

A9310

A9419 A6206

A9313

A6206

A6206

A6350

A9330

A6204

A6206

A4224 

A4160

A1620

A6001

A1610

A1146
A1610

A4160

A4126

A6100

A4137

A2007

A4126

A1118

A4160

A4133

A8200

A1113
A6229

A6206

A5051

A5155

A6305

A5073

A6100

A5074 A5017

A5015

A2216

A5079

A2006

A5079

A6300

A5013

A6216

A1620

A6001

A1620

A1615

A4021

A1620 A1620

A9415

A6350

A6210

A6210

A9336

A6210

A6303

A6230

A6903

A6044

A6204

A6306

A1022

A4125

A4125

A6233A6044
A6204

A4118

A6074

A6204

A1150

A6100

A2164

A6350

A6206

A6903

A9941
A7059

A17685

A6220

A2144

A2115

A2109
A4133

A8200

A6206

A6205

A5079

A4064

A6244

A4134



© Losi, A division of Horizon Hobby, Inc. Not Responsible for Typographical Errors All Prices Subject to Change Without Notice

Printed 07/09#800-0398/16266

SPEED-NT Exploded View and Price List
Speed-NT Replacement Parts

LOSA1022	 Front Axles (GTX, NXT, XXX-T/NT, SNT)...............................6.99
LOSA1113	 Front Shock Tower (ST, SNT)...................................................6.99
LOSA1118	 Front Suspension Arms (ST, SNT).........................................8.99
LOSA1150	 Front Outer Hinge Pins (XXX-T, ST, SNT).............................3.99
LOSA1610	 Steering Hard. Set (XXX-T, ST, SNT)......................................4.99
LOSA1615	 Short Ball Cups & Threaded Rod...........................................3.99
LOSA1620	 Steering/Servo Mount Assm. (XXX-T, ST, SNT).................7.99
LOSA2006	 Swivel Suspension Balls .250”(8)...........................................4.99
LOSA2007	 Hinge Pin 1/8 x 1.42” (XXX-T, ST, SNT).................................3.99
LOSA2109	 Rear Shock Tower (SNT)...........................................................6.99
LOSA2115	 Front & Rear Pivot Block Set (SNT).......................................6.99
LOSA2144	 Rear Suspension Arms (SNT)..................................................8.99
LOSA2164	 Hinge Pin 1/8 x 1.25” (XXX-T, ST, SNT).................................3.99
LOSA2166 	 Hinge Pin 1/8 x 1.90” (XXX-T, ST, SNT).................................3.99
LOSA2918	 Transmission Case & Brace Set w/Hard. (SNT).............. 10.99
LOSA2928	 Center Shaft & Hard. (SNT)......................................................7.99
LOSA2929	 Top Shaft with 2-Speed Pinions Assembled (SNT).........8.99
LOSA2934	 Steel Outdrive Set (2)................................................................7.99
LOSA2946	 2-Speed Hi-Gear Clutch Assembly (SNT)........................ 11.99
LOSA2947	 Low Gear Al. Hub & One-Way Bearing (SNT)................. 14.99
LOSA2948	 28T 2-Speed Low & 24T Diff Gears - Plastic (SNT)...........4.99
LOSA2949	 Drive Pin Assortment (SNT)....................................................5.99
LOSA2950	 Complete Gear Differential (SNT)...................................... 19.99
LOSA2951	 40T Diff Gear/Housing & End Cap (SNT)............................5.99
LOSA2952	 25T (Hi) 2-Speed gear/Hub - Metal (SNT)..........................6.99
LOSA2960	 RCVD Set Complete (ST, SNT) (2) ...................................... 21.99

LOSA2961	 RCVD Rebuild Set (ST, SNT) (2)..............................................6.99
LOSA3066	 Super Stick Assembly Grease.................................................3.99
LOSA3129	 HD Slipper Pad Set (All) (2)......................................................6.99
LOSA3132	 Slipper Back Plate – Al. (All)....................................................7.99
LOSA3135	 Slipper Spring, Cup, Retainer & Nut (All)............................3.99
LOSA3913	 62-Tooth Slipper Spur Gear (SNT)........................................4.99
LOSA4004	 Servo Tape (6)..............................................................................1.99
LOSA4008	 Al. Chassis Anodized Black (SNT)....................................... 34.95
LOSA4021	 Center Brace/Tank Mount (XXX-NT,S NT)....................... 10.99
LOSA4064	 Battery Box & Receiver Cover (SNT).....................................8.99
LOSA4118 	 Front Bumper/Skidplate (XXX-NT, SNT).............................7.99
LOSA4160	 Fr. Kickplate, Bulkhead & Steering Brace (SNT)...............9.99  
LOSA4125	 Fr. Spindles/Carriers, & Rear Hubs (ST, SNT)......................8.99
LOSA4133	 Front & Rear Body Mount Set (ST, SNT)..............................5.99
LOSA4134	 Wheelie Bar Set (ST, SNT)..................................................... 11.99
LOSA4137 	 Al. Front Inner Pin Brace (All XXX, SNT) .............................3.99
LOSA4224	 Threaded Chassis Inserts ........................................................7.99
LOSA5013	 F/R Shock Upper Mount Bushings (4).................................3.99
LOSA5015	 Double O-Ring Shock Cartridge...........................................2.99
LOSA5017	 1.0” Shock Shaft..........................................................................3.99
LOSA5079	 Shock Ends & Cups (4)..............................................................4.99
LOSA5074	 F/R Shock Pistons (4) - 2 & 3 Hole (SNT).............................2.99
LOSA5155	 F/R Shock Springs (4) – Chrome (SNT)...............................6.99
LOSA5051	 Shock Adjuster Nuts (4) (ST, SNT).........................................9.99
LOSA5073	 Shock Bodies – Blue (2) (ST, SNT)....................................... 19.99 
LOSA5225	 Certified Shock Fluid 35 wt.....................................................3.99
LOSA6001	 Ball Studs & Rod Ends 4-40 x 3/16” (4)................................4.99

LOSA99171   	 Temp-Tuner Temp Gauge/Screwdriver........................... 44.99
LOSA99172	 Camber Gauge......................................................................... 10.99
LOSA99173	 Ride Height Gauge  ............................................................... 10.99
LOSA99174	 Car Stand.................................................................................... 14.99
LOSA99202	 Losi-Lok Thread Lock, Blue......................................................4.99
LOSA99203	 Hi-Pressure Black Grease.........................................................3.99
LOSA99217	 Nitrotec Cleaner Spray.............................................................7.49
LOSB5201	 Losi Fuel Bottle 500cc...............................................................9.99
LOSB5221	 Aluminum Glow Igniter with Charger............................. 22.99 
LOSB9951 	 6V 1400 mAh Rx Battery Pack with BEC.......................... 35.99
LOSB9900	 7.2V NiMH rechargeable battery pack............................. 45.99
LOSB9606 	 MultiPro Intelligent Balance Charger.............................109.99

Engine Components
LOSR2110	 3.4 Piston/Sleeve/Rod/Wrist Pin......................................$89.99
LOSR2111	 3.4 Connecting Rod with Clips.........................................$29.99
LOSR2112	 3.4 Crankshaft.........................................................................$56.99
LOSR2113	 3.4 Crank Case........................................................................$39.99
LOSR2114	 3.4 Backplate & O-ring.........................................................$11.99
LOSR2115	 3.4 Front Bearing...................................................................$14.99
LOSR2116	 3.4 Rear Bearing.....................................................................$18.99
LOSR2117	 3.4 Combustion Chamber.................................................... $8.99
LOSR2118	 3.4 Head Gasket Set (.1 & .2mm)........................................ $3.49
LOSR2119	 3.4 Heat Sink – Orange........................................................$44.99
LOSR2121	 3.4 Head Protector & Screws............................................... $4.99
LOSR2123	 3.4 Carburetor Complete....................................................$44.99
LOSR2124	 3.4 Carb O-Rings & Bellows.................................................. $4.99
LOSR2126	 3.4 Starter Rotor/Shaft........................................................... $6.99
LOSR2128	 3.4 Screw/Hardware Set (10)............................................... $7.99
LOSR2129	 3.4 Exhaust Seals (2)............................................................... $4.99
LOSR2135	 3.4 Spin-Start Backplate......................................................$15.99
LOSR2136	 3.4 Spin-Start One-Way Bearing......................................$11.99

Use this space to write down parts items to order:

R2
12

4

R2
12

4

R2
12

4

* 
N

ot
 S

ho
w

n
   

LO
SR

21
35

 S
pi

n-
St

ar
t B

ac
kp

la
te

   
LO

SR
21

36
 S

pi
n-

St
ar

t O
ne

-W
ay

 B
ea

rin
g

R2
12

4

R2
12

4

R2
12

4

R2
12

4

R2
12

6
R2

12
8

R2
11

4
R2

11
4

R2
11

2
R2

11
3

R2
12

8

R2
11

5

R2
12

4

R2
12

3

R2
11

0
R2

11
1

R2
11

0
R2

11
1

R2
11

0
R2

11
1

R2
11

0

R2
11

8

R2
11

7

R2
11

9

R2
12

8

R2
12

1

R2
12

1

R2
11

6

R2
12

9

Lo
si

 3
.4

R
ea

r 
E

xh
au

st
 E

n
g

in
e


